Award Worksheet

Purchasing Entity: Shelby County Schools

2939 Bid ID:

Description: PPE Supplies for Head Start Category: PROTECTIVE EQUIPMENT

Effective Start Date: Effective End Date:

Awarded:

Bids Due By: 10/28/2020 2:00 PM 10/28/2020 2:00 PM Run Date: 11/9/20 3:52 pm

Bids Sealed Until:

Vendor Summary Information

Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary
Action Chemical Inc.	DELIVERY WITHIN 1-2 DAYS FROM DATE OF ORDER - PLEASE PLACE ORDER WITH ACTION CHEMICAL, INC. (ACTION JANITORIAL*PAPER*SAFETY) BY 2PM.	30 DAY PAYMENT TERMS	20,091,589.6700
Aramsco, Inc.	Pricing valid through 1-18-21. Items in stock as indicated on pricing page.	Net 30 days	289.0000
BRIGHTER DAYS AND NITES	3-4 weeks ARO	Net 15	322,869.1200
BSN Sports	See attached bid file.	NET30	76,210.3800
Capital Well Corporation	varies per item	net 30	21,140.6400
Cintas Corporation			399,224.3600
DLM Facilities & Management, Corp.	View Each Item	Net 15	225,524.3600
Kaplan Early Learning Company			926,710.0900
Kotis Design		Net 30 w/ PO	29,783.0500
Ladd Safety	Pricing is good through 12/31/2020	Net 15	266,143.2100
LubeMatrix, Inc.	Delivery in 10 days from order	Net 30 days	81,084.6400
Mersi Distribution LLC			6,414.1000
School Nurse Supply Inc		NET 30	52,190.5600
Unipak Corp.			18,116.7500
Uweport Inc.			51,195.1080
Zulco International, Inc			105,657.8400

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
No lotted items found fo	r the selected criteria. Natural Dish Soap Manufacturer & Part Number:	12 - 25.0000 Ounce Cases 12 - 25-oz/CS - No Qu	BRIGHTER DAYS AND NITES	0.0100	289	2.89			
	Quoted as Spec'd: Yes		Product Number: NA						
	Item Notes: Natural Dish Soap, Free & Clear Dish Liquid clinical Dishwashing liquid with no dyes Biodegradable liquid dish soap f	ly proven hypoallergenic or fragrances	ed Biobased Product 95%						
	Units required :12 - 25-oz/CS								
	Natural Dish Soap Manufacturer & Part Number:	12 - 25.0000 Ounce Cases 12 - 25-oz/CS	Aramsco, Inc.	1.0000	289	289.00			
	Quoted as Spec'd: Yes		Product Number: Aramsco Prici	ng Page					
	Natural Dish Soap Manufacturer & Part Number:	12 - 25.0000 Ounce Cases 12 - 25-oz/CS	Ladd Safety	4.3600	289	1,260.04			
	Quoted as Spec'd: Yes		Product Number: SEV22733						
	Natural Dish Soap	12 - 25.0000 Ounce Cases	Action Chemical Inc.	43.1200	289	12,461.68	289	\$12,461.68	Yes
	Manufacturer & Part Number:	12 - 25-oz/CS - L-SE\		-					
	Quoted as Spec'd: Yes		Product Number: L-SEV22733C	· I					
	Natural Dish Soap	12 - 25.0000 Ounce Cases	DLM Facilities & Management, Corp.	47.7600	289	13,802.64			
	Manufacturer & Part Number:	12 - 25-oz/CS							
	Quoted as Spec'd: Yes		Product Number: 9582						
	Response Item Payment Terms	: Net 15							
	Response Item Notes: Sunshine	e Liquid dish soap case							
	Natural Dish Soap Manufacturer & Part Number:	12 - 25.0000 Ounce Cases 12 - 25-oz/CS	Cintas Corporation	49.7300	289	14,371.97			

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Quoted as Spec'd: Yes		Product Number: SEV 22733C	Т	_				
		Response Item Notes: 12 - Sev	enth Genration dish liquid.	25 fl. Oz. Fresh/Clear scent						
2		Foaming Hand Soap	6 - 10.0000 Fluidounce Cases	Ladd Safety	3.7400	289	1,080.86			
		Manufacturer & Part Number:	6 7.5-10 fl oz/ CS							
		Quoted as Spec'd: Yes		Product Number: GOJ5715						
				aming Hand Wash - 10 fl oz (295.7 hypoallergenic formula is ideal for		_				
		Units: 6 7.5-10 fl oz/ CS Response Item Notes: Price is	per each bottle.							
		Foaming Hand Soap	6 - 10.0000 Fluidounce Cases	Action Chemical Inc.	19.9500	289	5,765.55	289	\$5,765.5	5 Yes
		Manufacturer & Part Number:	6 7.5-10 fl oz/ CS -	L-MTH01977						
		Quoted as Spec'd: Yes		Product Number: L-MTH01977	,					
		Foaming Hand Soap	6 - 10.0000 Fluidounce Cases	Cintas Corporation	30.1900	289	8,724.91			
		Manufacturer & Part Number:	6 7.5-10 fl oz/ CS							
		Quoted as Spec'd: Yes		Product Number: MTH 0361CT	Г					
		Response Item Notes: Method	foaming hand wash. 10 oz.	Push pump.						
		Foaming Hand Soap	6 - 10.0000 Fluidounce Cases	BRIGHTER DAYS AND NITES	37.6400	289	10,877.96			
		Manufacturer & Part Number:	6 7.5-10 fl oz/ CS -	D2142560						
		Quoted as Spec'd: Yes		Product Number: 2142560						
		Response Item Payment Terms	s: NET 15							
		Response Item Notes: 16 OZ								
3		Foaming Hand Soap Refill	4 - 1.0000 Gallon Cases	DLM Facilities & Management, Corp.	38.8800	289	11,236.32	289	\$11,236.3	2 Yes
		Manufacturer & Part Number:	Midlab							
		Quoted as Spec'd: Yes		Product Number: HB252						
		Item Notes: Foaming Hand Soa	p Refill, 1 gal Bottle, Foam	Free + Clear Foaming Hand Was	h -) - Hand - Clea	r - Fragrance-	-free,			

Line Lot Number Code	Item Description Dye-free, Triclosan-free - 4 / Ca Response Item Payment Terms Response Item Notes: Maxim F	s: Net 15	Vendor hypoallergenic formula is ideal for some some some some some some some some	Bid Price Q	esponse quantity rizing	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Foaming Hand Soap Refill Manufacturer & Part Number:	4 - 1.0000 Gallon Cases Midlab - M02520041	BRIGHTER DAYS AND NITES	44.8800	289	12,970.32			
	Quoted as Spec'd: Yes Response Item Payment Terms	s: Net 15	Product Number: 02520041						
	Response Item Notes: 4/CS								_
	Foaming Hand Soap Refill	4 - 1.0000 Gallon Cases	Action Chemical Inc.	49.8100	289	14,395.09			
	Manufacturer & Part Number:	SEVENTH GENERAT	TION - L-SEV44731CT						
	Quoted as Spec'd: Yes		Product Number: L-SEV447310	CT					
	Foaming Hand Soap Refill	4 - 1.0000 Gallon Cases	Cintas Corporation	63.8100	289	18,441.09			
	Manufacturer & Part Number:	4/CS							
	Quoted as Spec'd: Yes		Product Number: BET 7810400						
	Response Item Notes: Green ea	arth foaming hand cleaser.	1 gal. Citrus, moisturizing						
	Foaming Hand Soap Refill	4 - 1.0000 Gallon Cases	Ladd Safety	65.0000	289	18,785.00			
	Manufacturer & Part Number:	Gojo							
	Quoted as Spec'd: Yes		Product Number: GOJO						
4	Multi-Purpose Cleaner	12 - 1.0000 Each Cases	Cintas Corporation	32.5900	297	9,679.23	297	\$9,679.23	3 Yes
	Manufacturer & Part Number:	12/case							
	Quoted as Spec'd: Yes		Product Number: PGC 30110C						
	EPA-approved disinfectants; kill aeruginosa, Staphylococcus aur monocytogenes, Methicillin resis**When used as directed, effect Escherichia coli 0157:H7, Enterd	germs on surfaces includin reus, Salmonella enterica, E stant staphylococcus aureus ive against bacteria (Pseudo obacter aerogenes, Listeria	9.9% of bacteria for 24 hours on hig Coronavirus. When used as diescherichia coli 0157:H7, Enterobas (MERSA), and streptococcus pyromonas aeruginosa, Staphylococcomonocytogenes, Methicillin Resis	rected, effective agair acter aerogenes, Liste ogenes. aus aureus, Salmonel tant Staphylococcus a	nst Pseudor eria lla enterica, aureus, and	ı			

Streptococcus pyogenes), viruses (Influenza A H1N1, Respiratory Syncytial Virus [RSV] and Human Coronavirus, Herpes Simplex virus

Line Lot Number Code	Aspergillus niger)., Eliminates oc non-food-contact and soft surfac stainless steel, aluminum, glazer	dors, ffective against Staphy es, including plastic, uphols d porcelain, glazed ceramic	Vendor and Norovirus & Rotavirus) and fun allococcus aureus & Enterobacter stery, painted wood, sealed wood a sealed granite and marble, Forn ti-microbial sanitizing. 32 oz. Citr	aerogenes, Use on painted surfaces, nica® and Corian®	on a variety of washable fab	hard,	Pending Award Quantity	Pending Award Total	Pending Award
	Multi-Purpose Cleaner Manufacturer & Part Number:	12 - 1.0000 Each Cases Spartan Chemical - S ²	BRIGHTER DAYS AND NITES 102103	33.7700	297	10,029.69			
	Quoted as Spec'd: Yes		Product Number: 102103						
	Response Item Payment Terms	: Net 15							
	Response Item Notes: 3 - 4 week	eks ARO							
	Multi-Purpose Cleaner	12 - 1.0000 Each Cases	DLM Facilities & Management, Corp.	38.1600	297	11,333.52			
	Manufacturer & Part Number:	Midlab							
	Quoted as Spec'd: Yes		Product Number: DS42000						
	Response Item Notes: We can describe the Notes:	-	arts. Per Germicidal Spray Cleane	Pr					
	Multi-Purpose Cleaner	12 - 1.0000 Each Cases	Ladd Safety	44.2000	297	13,127.40			
	Manufacturer & Part Number:	Proctor & Gamble							
	Quoted as Spec'd: Yes		Product Number: PGC30130						
	Response Item Notes: Microbar	n, 15 oz, 6 per case							
	Multi-Purpose Cleaner	12 - 1.0000 Each Cases	Action Chemical Inc.	46.8800	297	13,923.36			
	Manufacturer & Part Number:	CLOROX - L-CLO016	98CT						
	Quoted as Spec'd: Yes		Product Number: L-CLO01698	СТ					
5	TB-CIDE QUAT	12 - 1.0000 Quart Cases	Action Chemical Inc.	32.7400	578	18,923.72	578	\$18,923.72	2 Yes
	Manufacturer & Part Number:	SPARTAN CHEMICA	L - SP-1021-03						
	Quoted as Spec'd: Yes		Product Number: SP-1021-03						
	Item Notes: TB-CIDE QUAT - TI	B-Cide Quat is a quaternary	-based, ready-to-use cleaner/dec	odorizer/					

disinfectant. TB-Cide Quat is non-viscous and water clear in color with a crisp, clean lemon fragrance. MUST INCLUDE A TRIGGER

Line Lot Number Code	SPRAYER. This broad spectrur Standard for activity against My	cobacterium tuberculosis, E	Vendor Int not only meets the recommenda BCG, HBV (Hepatitis B Virus), HCV concerns relating to Escherichia col	Bid Price ations of the OSHA (Hepatitis C Virus	s), and HIV-1 (AIDS Virus),	Pending Award Quantity	Pending Award Total	Pending Award
	TB-CIDE QUAT Manufacturer & Part Number:	12 - 1.0000 Quart Cases Spartan Chemical - S	BRIGHTER DAYS AND NITES	33.7700	578	19,519.06			
	Quoted as Spec'd: Yes Response Item Payment Term: Response Item Notes: 3 - 4 we	s: Net 15	Product Number: 102103						
	TB-CIDE QUAT Manufacturer & Part Number:	12 - 1.0000 Quart Cases Midlab	DLM Facilities & Management, Corp.	38.1600	578	22,056.48			
	Quoted as Spec'd: Yes Response Item Payment Terms Response Item Notes: DS420		Product Number: DS420 GSC Spray Cleaner						
	TB-CIDE QUAT	12 - 1.0000 Quart Cases	LubeMatrix, Inc.	46.6800	578	26,981.04			
	Manufacturer & Part Number: Quoted as Spec'd: Yes Response Item Payment Term:	Creative Chemcial - E	DBK-RTU Product Number: DIST32TS						
	Response Item Notes: EPA Ap TB-CIDE QUAT	proved (Quat) disinfectant 12 - 1.0000 Quart	Cintas Corporation	51.0900	578	29,530.02			
	Manufacturer & Part Number: Quoted as Spec'd: Yes	Cases 12/QT/CS	Product Number: DVO 04743						
6	Response Item Notes: TB Qua Disinfecting Wipes	6 - 75.0000 Sheet	RTU Disinfectant Cleaner. 32 oz. Cintas Corporation	4.7500	604	2,869.00			
	Manufacturer & Part Number: Quoted as Spec'd: Yes	Containers 75 Wipes Per Tub, Bo	Product Number: 617157						

Item Notes: Disinfecting Wipes - Must be EPA-approved disinfectants; kill germs on surfaces including Coronavirus, Thick,

Line Lo	premoistened surface wipes for commercial facilities. Bleach-free formula kills 99.9% Coli, Staph, Salmonella, Strep, Canister dispenses 1 wipe at a Fresh scent and citrus blend wi Disinfecting wipes come in a will	of viruses and bacteria, dis Human Coronavirus and Ir time. pes provide a pleasing aron hite canister of 75 wipes. 75 wipes per tub. Disinfect commercial facilities.		Bid Price Q schools, restaurants a scum. Eliminates cold	l and flu viru		Pending Award Quantity	Pending Award Pending Award
	Disinfecting Wipes Manufacturer & Part Number:	6 - 75.0000 Sheet Containers	Uweport Inc. en Pharmaceutical Co. Ltd.	22.0000	604	13,288.00		
	Quoted as Spec'd: Yes	Guarigzhoù Merylche	Product Number: DW10055					
	Response Item Payment Term	e: 30 Dave	Product Number. DW 10033					
	Response Item Notes: 100 Wig							
	- Response item Notes. 100 Wil	bes per container						
	Disinfecting Wipes Manufacturer & Part Number:	6 - 75.0000 Sheet Containers LYSOL - L-RAC997	Action Chemical Inc.	32.6800	604	19,738.72	604	\$19,738.72 Yes
		L130L - L-1(A0991	Product Number: L-RAC99716	OT.				
	Quoted as Spec'd: Yes		Product Number: L-RAC997 10	<u> </u>				
	Disinfecting Wipes Manufacturer & Part Number:	6 - 75.0000 Sheet Containers Spartan Chemical - S	BRIGHTER DAYS AND NITES	60.4400	604	36,505.76		
	Quoted as Spec'd: Yes	Spartan Shermoal	Product Number: 109606					
	Response Item Payment Term	s: Net 15	Troduct Number: 100000					
	Response Item Notes: 3 -4 we							
	кезропас пеш посез. 3 -4 we	ONS AINO						
7	Sanitizing Spray Manufacturer & Part Number:	12 - 1.0000 Each Cases Midlab	DLM Facilities & Management, Corp.	33.1600	289	9,583.24	289	\$9,583.24 Yes
	Quoted as Spec'd: Yes	MINIMO	Product Number: DS20 GSC					

disinfectants; kill germs on surfaces including Coronavirus, When used as directed, effective against Pseudomonas aeruginosa,

Item Notes: Sanitizing Spray, Sanitizing Spray kills 99.9% of bacteria for 24 hours on hard and sort surfaces, , Must be EPA-approved

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
Number	Code	Staphylococcus aureus, Salmon				-		Quantity	rotar	Awaru
		resistant staphylococcus aureus	(MERSA), and streptococci	us pyogenes.						
				monas aeruginosa, Staphylococo monocytogenes, Methicillin Resis						
		Streptococcus pyogenes), viruse	s (Influenza A H1N1, Respi	ratory Syncytial Virus [RSV] and	Human Coronavii	us, Herpes Si	implex virus			
				d Norovirus & Rotavirus) and fun lococcus aureus & Enterobacter						
		non-food-contact and soft surfac								
		stainless steel, aluminum, glazed Response Item Payment Terms	•	sealed granite and marble, Form	iica® and Corian@	3.				
		Response Item Notes: DS420 G	SC in Sanitizing spray per i	tem						
		Sanitizing Spray	12 - 1.0000 Each Cases	Ladd Safety	44.2000	289	12,773.80			
		Manufacturer & Part Number:	Proctor & Gamble							
		Quoted as Spec'd: Yes		Product Number: PGC30130						
		Response Item Notes: Microban	, 15oz, 6 per case							
		Sanitizing Spray	12 - 1.0000 Each Cases	Cintas Corporation	45.1700	289	13,054.13			
		Manufacturer & Part Number:	12/case							
		Quoted as Spec'd: Yes		Product Number: PGC 30130C	Т					
		Response Item Notes: Microban	Pro Sanitizing 24 Sanitizing	g Spray. 15 oz citrus scent.						
		Sanitizing Spray	12 - 1.0000 Each Cases	BRIGHTER DAYS AND NITES	52.8900	289	15,285.21			
		Manufacturer & Part Number:	Steriphene - S608100	20						
		Quoted as Spec'd: Yes		Product Number: 608100						
		Response Item Payment Terms	: Net 15							
		Response Item Notes: 3 -4 week	ks ARO 20 oz							
		Sanitizing Spray	12 - 1.0000 Each Cases	Action Chemical Inc.	117.6900	289	34,012.41			
		Manufacturer & Part Number:	DIVERSEY - L-DVO10	00842725						
		Quoted as Spec'd: Yes		Product Number: L-DVO100842	2725					

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	esponse Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
8	PURELL MESSENGER ES6 FLOOR STAND - GRAPHITE	1 - 1.0000 Each Purchase	Cintas Corporation	0.0100	182	1.82			
	WITH SILVER PANEL	i dicilase							
	Manufacturer & Part Number:	NO BID							
	Quoted as Spec'd: Yes		Product Number: NO BID						
	Dispenser Stand for PURELL® Includes PURELL® ES6 Hand SMay be personalized with your Accessorize with the Small PUR	Hand Sanitizer Sanitizer Dispenser - White message on the front and ba RELL MESSENGER™ Stand re sleek and modern design to maximize stability when cleaning the facility always looks good RELL MESSENGER™ Stand and Sanitizer refills	d Signs or the Hygiene Bracket when compared to leading touch d Signs			2,800.98			
	Manufacturer & Part Number:	Purell - G642001							
	Quoted as Spec'd: Yes		Product Number: 642001						
	Response Item Payment Terms	s: Net 15							
	Response Item Notes: 3 -4 week	eks ARO							
	PURELL MESSENGER ES6 FLOOR STAND - GRAPHITE WITH SILVER PANEL	1 - 1.0000 Each Purchase	Action Chemical Inc.	205.8800	182	37,470.16	182	\$37,470.16	3 Yes
	Manufacturer & Part Number:	GOJO PURELL - L-G	OJ7306DSSLV						
	Quoted as Spec'd: Yes		Product Number: L-GOJ7306D	SSLV					
	PURELL MESSENGER ES6 FLOOR STAND - GRAPHITE WITH SILVER PANEL Manufacturer & Part Number:	1 - 1.0000 Each Purchase Purell	Ladd Safety	261.2500	182	47,547.50			
	Quoted as Spec'd: Yes		Product Number: GOJ7308						

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Pending Total Award
9		PURELL PROFESSIONAL ADVANCED HAND SANITIZER FOAM, 1200ML. MUST INCLUDE 60% ALCOHOL OR HIGHER. Manufacturer & Part Number:	2 - 1.0000 Count Cases 2 Liter Pump Bottle	Cintas Corporation	7.5000	377	2,827.50		
		Quoted as Spec'd: Yes		Product Number: N7330					
		Skin Nourishing Instant Hand Sa EcoLogo hand sanitizer standard 100% naturally renewable ethan- non-aerosol foam formula provid	nitizer Foam provides adva d EL UL 2783 for environme ol, meeting the USDA BioP es broad-spectrum antimic condition in 14 days. This F d CHG. Meets CDC and AP		his green certified rmance. PURELL nt standards. Rea ers for optimal skir	formula meets Advanced is m dily biodegrada conditioning, i	ade from able t is		
		PURELL PROFESSIONAL ADVANCED HAND SANITIZER FOAM, 1200ML. MUST INCLUDE 60% ALCOHOL OR HIGHER.	2 - 1.0000 Count Cases	Action Chemical Inc.	60.3500	377	22,751.95	377	\$22,751.95 Yes
		Manufacturer & Part Number:	GOJO PURELL - L-G	OJ645402					
		Quoted as Spec'd: Yes		Product Number: L-GOJ645402	2				
		PURELL PROFESSIONAL ADVANCED HAND SANITIZER FOAM, 1200ML. MUST INCLUDE 60% ALCOHOL OR HIGHER.	2 - 1.0000 Count Cases	Ladd Safety	69.2000	377	26,088.40		
		Manufacturer & Part Number:	Purell						
		Quoted as Spec'd: Yes		Product Number: GOJ1905					
		PURELL PROFESSIONAL ADVANCED HAND SANITIZER FOAM, 1200ML. MUST INCLUDE 60% ALCOHOL OR HIGHER. Manufacturer & Part Number:	2 - 1.0000 Count Cases Purell - G645602	BRIGHTER DAYS AND NITES	157.4900	377	59,373.73		
		Quoted as Spec'd: Yes	30 10002	Product Number: 645602					
		Response Item Payment Terms	: Net 15						
		Response Item Notes: 3 -4 week	ks ARo Case of 2						

Line Lo Number Coo		Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
10	Hand Sanitizer	12 - 8.0000 Fluidounce	Uweport Inc.	2.2500	317	713.25	317	\$713.25	Yes
	Manufacturer & Part Number:	Bottles 8 fl oz Pump Bottle 12	2/case						
	Quoted as Spec'd: Yes		Product Number: HS10011						
	OR HIGHER. Alcohol-based ha	nd sanitizer works in as little and maintaining skin health. nealthy skin moisture and im	nore than 99.99% of most commo e as 15 seconds, with no water of Instant Hand Sanitizer is enhand aproves overall skin feel.	towels needed. Pr	rovides unpred	cedented			
	Hand Sanitizer	12 - 8.0000 Fluidounce Bottles	Ladd Safety	2.5200	317	798.84			
	Manufacturer & Part Number:	8 fl oz Pump Bottle 12	2/case						
	Quoted as Spec'd: Yes		Product Number: 72029						
	Response Item Notes: Price is	per each bottle.							
	Hand Sanitizer Manufacturer & Part Number:	12 - 8.0000 Fluidounce Bottles 8 fl oz Pump Bottle 12	BRIGHTER DAYS AND NITES 2/case - G Stream	3.0500	317	966.85			
	Quoted as Spec'd: Yes		Product Number: GGHS300						
	Response Item Payment Terms	s: Net 15							
	Response Item Notes: 3 -4 wee	eks ARO							
	Hand Sanitizer	12 - 8.0000 Fluidounce Bottles	School Nurse Supply Inc	4.8800	317	1,546.96			
	Manufacturer & Part Number:	8 fl oz Pump Bottle 12	2/case						
	Quoted as Spec'd: Yes		Product Number: 18711						
	Response Item Notes: PRICE I	S PER BOTTLE							
	Hand Sanitizer	12 - 8.0000 Fluidounce Bottles	Cintas Corporation	6.0000	317	1,902.00			
	Manufacturer & Part Number:	8 fl oz Pump Bottle 12	2/case - 8 fl oz Pump Bottle						
	Quoted as Spec'd: Yes		Product Number: 616962						
	Response Item Notes: 7.8 oz p	er bottle priced @ \$6 per bo	ottle						

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Hand Sanitizer	12 - 8.0000 Fluidounce Bottles	Action Chemical Inc.	52.9400	317	16,781.98			
	Manufacturer & Part Number:		2/case - L-GN1E236SAN						
	Quoted as Spec'd: Yes		Product Number: L-GN1E236	SAN					
	Hand Sanitizer	12 - 8.0000 Fluidounce Bottles	LubeMatrix, Inc.	115.2000	317	36,518.40			
	Manufacturer & Part Number:	8 fl oz Pump Bottle 1:	2/case - MarquisXT-16						
	Quoted as Spec'd: Yes		Product Number: 160ZPUMP	MXT					
	Response Item Payment Terms	s: Net 30							
	Response Item Notes: The price	e is for a case of 48-8 oz w	ith pump.						
11	Hand Sanitizer	4 - 2.0000 Liter Bottles	BRIGHTER DAYS AND NITES	0.0100	232	2.32			
	Manufacturer & Part Number:	2 Liter Pump Bottle -	No Quote						
	Quoted as Spec'd: Yes		Product Number: NA						
	Item Notes: Hand Sanitizer - In OR HIGHER. Alcohol-based ha	nd sanitizer works in as littl and maintaining skin health.	nore than 99.99% of most commo e as 15 seconds, with no water of Instant Hand Sanitizer is enhance.	towels needed. Pr	rovides unpred	edented			
	Item Notes: Hand Sanitizer - In OR HIGHER. Alcohol-based ha germ kill while soothing hands a	nd sanitizer works in as littl and maintaining skin health.	nore than 99.99% of most commo e as 15 seconds, with no water of Instant Hand Sanitizer is enhance.	towels needed. Pr	rovides unpred	edented			
	Item Notes: Hand Sanitizer - In OR HIGHER. Alcohol-based ha germ kill while soothing hands a agents that help maintain skin h	nd sanitizer works in as littl and maintaining skin health. lealthy skin moisture and im 4 - 2.0000 Liter Bottles	nore than 99.99% of most commo e as 15 seconds, with no water o . Instant Hand Sanitizer is enhand proves overall skin feel.	r towels needed. Pr ed with four differe	rovides unprec ent skin condition	edented oning			
	Item Notes: Hand Sanitizer - In OR HIGHER. Alcohol-based ha germ kill while soothing hands a agents that help maintain skin help Hand Sanitizer Manufacturer & Part Number:	nd sanitizer works in as littl and maintaining skin health. ealthy skin moisture and in 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle	nore than 99.99% of most commo e as 15 seconds, with no water of Instant Hand Sanitizer is enhance approves overall skin feel. Cintas Corporation Product Number: N7330	r towels needed. Pr ed with four differe	rovides unprec ent skin condition	edented oning			
	Item Notes: Hand Sanitizer - In OR HIGHER. Alcohol-based ha germ kill while soothing hands a agents that help maintain skin help maintain skin help Manufacturer & Part Number: Quoted as Spec'd: Yes	nd sanitizer works in as littl and maintaining skin health. ealthy skin moisture and in 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle	nore than 99.99% of most commo e as 15 seconds, with no water of Instant Hand Sanitizer is enhance approves overall skin feel. Cintas Corporation Product Number: N7330	r towels needed. Pr ed with four differe	rovides unprec ent skin condition	edented oning			
	Item Notes: Hand Sanitizer - In OR HIGHER. Alcohol-based ha germ kill while soothing hands a agents that help maintain skin hel	nd sanitizer works in as littlend maintaining skin health. ealthy skin moisture and im 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle initizer Gel with Pump \$7.50	nore than 99.99% of most commo e as 15 seconds, with no water of Instant Hand Sanitizer is enhance approves overall skin feel. Cintas Corporation Product Number: N7330	r towels needed. Preed with four different	rovides unprec ent skin condition 232	edented oning 1,740.00			
	Item Notes: Hand Sanitizer - In OR HIGHER. Alcohol-based ha germ kill while soothing hands a agents that help maintain skin hel	nd sanitizer works in as littlend maintaining skin health. 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle	nore than 99.99% of most commo e as 15 seconds, with no water of Instant Hand Sanitizer is enhance approves overall skin feel. Cintas Corporation Product Number: N7330 O per bottle Uweport Inc.	r towels needed. Preed with four different	rovides unprec ent skin condition 232	edented oning 1,740.00			
	Item Notes: Hand Sanitizer - In OR HIGHER. Alcohol-based ha germ kill while soothing hands a agents that help maintain skin hel	nd sanitizer works in as littlend maintaining skin health. 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle	nore than 99.99% of most commo e as 15 seconds, with no water of Instant Hand Sanitizer is enhance approves overall skin feel. Cintas Corporation Product Number: N7330 O per bottle Uweport Inc.	r towels needed. Preed with four different	rovides unprec ent skin condition 232	edented oning 1,740.00			
	Item Notes: Hand Sanitizer - In OR HIGHER. Alcohol-based ha germ kill while soothing hands a agents that help maintain skin hel	nd sanitizer works in as littlend maintaining skin health. 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle	nore than 99.99% of most commo e as 15 seconds, with no water of Instant Hand Sanitizer is enhance approves overall skin feel. Cintas Corporation Product Number: N7330 O per bottle Uweport Inc.	r towels needed. Preed with four different	rovides unprec ent skin condition 232	edented oning 1,740.00	232	\$3,477.68	3 Yes
	Item Notes: Hand Sanitizer - In OR HIGHER. Alcohol-based ha germ kill while soothing hands a agents that help maintain skin he Hand Sanitizer Manufacturer & Part Number: Quoted as Spec'd: Yes Response Item Notes: 32oz Sa Hand Sanitizer Manufacturer & Part Number: Quoted as Spec'd: Yes Response Item Payment Terms Response Item Notes: 1 Liter Hand Sanitizer	nd sanitizer works in as littlend maintaining skin health. 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle 4 - 2.0000 Liter Bottles 2 Liter Pump Bottle 4 - 2.0000 Liter Bottles 2 Liter Pump Bottles 3 Liter Pump Bottle 4 - 2.0000 Liter Bottles 5 Bottles 4 - 2.0000 Liter Bottles 5 Bottles 6 Bottles 7 Bottles 7 Bottles 8 Bottles 8 Bottles 9 Bottles	nore than 99.99% of most commo e as 15 seconds, with no water of Instant Hand Sanitizer is enhance proves overall skin feel. Cintas Corporation Product Number: N7330 O per bottle Uweport Inc. Product Number: HS10012	r towels needed. Pred with four different 7.5000	rovides unpred int skin condition 232	1,740.00 2,260.61	232	\$3,477.68	3 Yes

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Hand Sanitizer Manufacturer & Part Number:	4 - 2.0000 Liter Bottles	LubeMatrix, Inc.	34.6000	232	8,027.20			
	Quoted as Spec'd: Yes	2 Liter Pump Bottle - I	Product Number: 64OZMXTPU	IMD					
	Response Item Payment Terms	• NET 20	Froduct Number: 0402MATE	DIVIE					
		. NET 50							
	Hand Sanitizer Manufacturer & Part Number:	4 - 2.0000 Liter Bottles 2 Liter Pump Bottle - I	Action Chemical Inc. L-GOJ962504CT	81.1800	232	18,833.76			
	Quoted as Spec'd: Yes		Product Number: L-GOJ96250	4CT					
12	Vinyl Non-sterile Exam Gloves Manufacturer & Part Number:	12 - 150.0000 Each Boxes 150 /box/12 Case - He	BRIGHTER DAYS AND NITES 6005BX	8.0200	27	216.54	27	\$216.54	4 Yes
	Quoted as Spec'd: Yes		Product Number: 6005BX						
	For Multipurpose, Laboratory Ap For use in noncritical care units, Advanced technology dramatica Ambidextrous design allows eac Response Item Payment Terms Response Item Notes: 3 - 4 wee	laboratories and more lly improves tactile sensitivi h glove to be used for eithe : Net 15	ity and strength	aluable time throu	ighout your da	у			
	Vinyl Non-sterile Exam Gloves Manufacturer & Part Number:	12 - 150.0000 Each Boxes 150 /box/12 Case	Capital Well Corporation	8.9900	27	242.73			
	Quoted as Spec'd: Yes		Product Number: VGlove Nitril	e Glove					
	Response Item Payment Terms	: Net 30 days							
	•	•	The price of 8.99 usd is for a box 50,000 gloves with 150 cases. Le	•		0 boxes.			
	Vinyl Non-sterile Exam Gloves Manufacturer & Part Number:	12 - 150.0000 Each Boxes 150 /box/12 Case - L-	Action Chemical Inc.	77.8000	27	2,100.60			
	Quoted as Spec'd: Yes		Product Number: L-GEN89609	SCT					
	Vinyl Non-sterile Exam Gloves Manufacturer & Part Number:	12 - 150.0000 Each Boxes 150 /box/12 Case	Cintas Corporation	175.0000	27	4,725.00			

Line Number	Lot Code	Ham Decesimin	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
Number	Code	Item Description Quoted as Spec'd: Yes	Furchase Offic	Product Number: 617065L	Bla Price	Qualitity	Total Frice	quantity	rotar	Awaru
		Response Item Notes: 100 Glov	es per box \$17.50 per box	10 boxes per case						
13		Vinyl Non-sterile Exam Gloves Manufacturer & Part Number:	12 - 150.0000 Each Boxes 150 /box/12 Case - H6	BRIGHTER DAYS AND NITES 5006BX	8.0200	27	216.54	27	\$216.54	4 Yes
		Quoted as Spec'd: Yes		Product Number: 6006BX						
		Item Notes: Vinyl Non-sterile Ex-For Multipurpose, Laboratory AFor use in noncritical care units, Advanced technology dramatical Ambidextrous design allows each Response Item Payment Terms: Response Item Notes: 3 - 4 week	pplication - 150 / Box, Easy laboratories and more ly improves tactile sensitivit n glove to be used for eithe Net 15	r-to-wear construction saves you try and strength						
		Vinyl Non-sterile Exam Gloves Manufacturer & Part Number:	12 - 150.0000 Each Boxes 150 /box/12 Case	Capital Well Corporation	8.9900	27	242.73			
		Quoted as Spec'd: Yes		Product Number: VGlove Nitrile	Glove					
		Response Item Payment Terms	Net 30 days							
		Response Item Notes: Estimated Under that unit of measure we can			-		10 boxes.			
		Vinyl Non-sterile Exam Gloves	12 - 150.0000 Each Boxes	Action Chemical Inc.	77.8000	27	2,100.60			
		Manufacturer & Part Number:	150 /box/12 Case - L-0	GEN8960MCT						
		Quoted as Spec'd: Yes		Product Number: L-GEN8960M	СТ					
		Vinyl Non-sterile Exam Gloves Manufacturer & Part Number:	12 - 150.0000 Each Boxes 150 /box/12 Case	Cintas Corporation	117.5000	27	3,172.50			
		Quoted as Spec'd: Yes		Product Number: 617065L						
		Response Item Notes: 100 Glov	es per box \$17.50 per box	10 boxes per case						
14		Vinyl Non-sterile Exam Gloves Manufacturer & Part Number:	12 - 150.0000 Each Boxes HNC Enterprises - H60	BRIGHTER DAYS AND NITES 007BX	8.0200	117	938.34	117	\$938.34	4 Yes

Line Lot Number Code	Item Description	Purchase Unit	Vendor		Response Quantity	Total Price	Pending Award Quantity	Pending Award Pending Total Award
	Quoted as Spec'd: Yes		Product Number: 6007BX					
		oplication - 150 / Box, Easy laboratories and more ally improves tactile sensition glove to be used for eith services. Net 15	•			ded Cuff -		
	Vinyl Non-sterile Exam Gloves Manufacturer & Part Number:	12 - 150.0000 Each Boxes VGlove	Capital Well Corporation	8.9900	117	1,051.83		
	Quoted as Spec'd: Yes		Product Number: VGlove Nitr	le Glove				
	Response Item Payment Terms	s: Net 30 days						
			s The price of 8.99 usd is for a bo 50,000 gloves with 150 cases. Lo	-		boxes.		
	Vinyl Non-sterile Exam Gloves Manufacturer & Part Number:	12 - 150.0000 Each Boxes GENERAL PURPOS	Action Chemical Inc.	77.8000	117	9,102.60		
	Quoted as Spec'd: Yes		Product Number: L-GEN8960	LCT				
	Vinyl Non-sterile Exam Gloves Manufacturer & Part Number:	12 - 150.0000 Each Boxes 150 / Box	Cintas Corporation	117.5000	117	13,747.50		
	Quoted as Spec'd: Yes		Product Number: 617065L					
	Response Item Notes: 100 Glov	ves per box \$17.50 per box	(10 boxes per case					
15	Disposable General Purpose Gloves Manufacturer & Part Number:	1 - 1000.0000 Each Box Clear - 1000 / Box - I	BRIGHTER DAYS AND NITES No Quote	0.0100	594	5.94		
	Quoted as Spec'd: Yes		Product Number: NA					
	Item Notes: Disposable Genera Comfortable, Durable - For Food		Size - Unisex - Polyethylene - Cle Cleaning, Printing - 1000 / Box	ar - Disposable, Ambi	idextrous, Lig	htweight,		
	Disposable General Purpose Gloves Manufacturer & Part Number:	1 - 1000.0000 Each Box Clear - 1000 / Box - I	Action Chemical Inc. IBSGLLG2K	10.9900	594	6,528.06	594	\$6,528.06 Yes

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Quoted as Spec'd: Yes		Product Number: L-IBSGLLG2	K					
		Disposable General Purpose Gloves Manufacturer & Part Number:	1 - 1000.0000 Each Box Clear - 1000 / Box	Ladd Safety	11.4000	594	6,771.60			
		Quoted as Spec'd: Yes		Product Number: 7500047						
		Response Item Notes: Price is p	per case of 2000 gloves.							
		Disposable General Purpose Gloves Manufacturer & Part Number:	1 - 1000.0000 Each Box Clear - 1000 / Box	Cintas Corporation	117.5000	594	69,795.00			
		Quoted as Spec'd: Yes		Product Number: 617065L						
		Response Item Notes: 100 Glov	es per box \$17.50 per box	10 boxes per case						
16		PRO TOWEL COMPLETE Manufacturer & Part Number:	10 - 126.0000 Count Cases Wypall - KC05800	BRIGHTER DAYS AND NITES	11.4600	594	6,807.24	594	\$6,807.24	4 Yes
		Quoted as Spec'd: Yes	,,,	Product Number: C05800						
		Item Notes: PRO TOWEL COM Heavy-duty for the most demand Top of the line rag and shop tow Highly absorbent and wipes surf Virtually lint-free Chemically pure Solvent resistant Response Item Payment Terms	ding tasks rel replacement races dry	est, highest performance reusable	e cloth-like towels					
		Response Item Notes: 3 - 4 wee	eks ARO 100/BX							
		PRO TOWEL COMPLETE	10 - 126.0000 Count Cases	Action Chemical Inc.	76.9300	594	45,696.42			
		Manufacturer & Part Number:	KIMBERLY CLARKE	- L-KCC34790CT						
		Quoted as Spec'd: Yes		Product Number: L-KCC34790	OCT					
		PRO TOWEL COMPLETE	10 - 126.0000 Count Cases	Ladd Safety	84.5000	594	50,193.00			
		Manufacturer & Part Number: Quoted as Spec'd: Yes	Kimberly Clark	Product Number: KCC34790						

Line Lot Number Code	Item Description PRO TOWEL COMPLETE Manufacturer & Part Number:	Purchase Unit 10 - 126.0000 Count Cases 10/126CT	Vendor Cintas Corporation	Bid Price 95.3200	Response Quantity 594	Total Price 56,620.08	Pending Award Quantity	Pending Award Pending Total Award
	Quoted as Spec'd: Yes	<u> </u>	Product Number: GPC 21000					
	Response Item Notes: Wypall K	amberly Clark X60 Wipers.	White, soft durable					
17	Soft - Zip-Half Pack 2-Ply Facial Tissue Manufacturer & Part Number:	12 - 125.0000 Sheet Cases 125 Sheets Per Box,	Cintas Corporation Case Of 12 Boxes	19.0000	461	8,759.00	461	\$8,759.00 Yes
	Quoted as Spec'd: Yes		Product Number: 8540079					
	Item Notes: Soft - Zip-Half Pack Comes with 125 sheets per box Signal feature alerts you when it Response Item Notes: Skilcraft	in a case of 12 boxes. 's time to change the box.	alf Pack facial tissues are 2-Ply forbox. White	or softness.				
	Soft - Zip-Half Pack 2-Ply Facial Tissue Manufacturer & Part Number:	12 - 125.0000 Sheet Cases 125 Sheets Per Box,	Action Chemical Inc. Case Of 12 Boxes - L-KCC03076	20.4700	461	9,436.67		
	Quoted as Spec'd: Yes		Product Number: L-KCC03076					
	Soft - Zip-Half Pack 2-Ply Facial Tissue Manufacturer & Part Number:	12 - 125.0000 Sheet Cases 125 Sheets Per Box,	BRIGHTER DAYS AND NITES Case Of 12 Boxes - GPC47410	35.1300	461	16,194.93		
	Quoted as Spec'd: Yes		Product Number: C47410					
	Response Item Payment Terms	:: Net 15						
	Response Item Notes: 3 - 4 week	eks ARO						
18	No Touch Forehead Thermometer Manufacturer & Part Number:	1 - 1.0000 Each Box Zhangye Nuoan Med	Zulco International, Inc	9.0000	531	4,779.00	531	\$4,779.00 Yes
	Quoted as Spec'd: Yes		Product Number: SAVTERMO					
	Fahrenheit units Approved for use in clinical and No-touch operation eliminates p Result indicators help you accur Response Item Payment Terms	home settings atient contact ately interpret each reading :: Net 30 days	,					
	Response Item Notes: This 202	0 newly released no-touch	thermometer is specially designed	d to take the Huma	an Body Temp	erature		

Line Lot Number Code	Item Description	Purchase Unit	Vendor . (3 to 5cm). A great choice for bus	Bid Price Q		Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	clinics Non-contact infrared the on LCD in 1 second Temperatemperature readings and recal	nermometer - Six functions o uture/object temperature dua I them anytime. Remote infr	of infrared temperature gun - Press I mode switching non-contact infrared accuracy measurement. Easy utomatic display of last measurement.	the gun key switch, tared sensor. Stores -to-read LCD display	the result is a up to 10 If the tempe	shown			
	=		Noan Model: T-01 ASA Techmed S						
	No Touch Forehead Thermometer Manufacturer & Part Number:	1 - 1.0000 Each Box PANGAO - TLTHERM	LubeMatrix, Inc.	18.0000	531	9,558.00			
	Quoted as Spec'd: Yes	PANGAO - ILIHERIV	Product Number: TLTHERM						
	Response Item Payment Terms	s: NET 30	Troduct Number: TETTIERW						
	No Touch Forehead Thermometer	1 - 1.0000 Each Box	Capital Well Corporation	24.9900	531	13,269.69			
	Manufacturer & Part Number:	DAYOU Medical Tech							
	Quoted as Spec'd: Yes		Product Number: DYA600						
	Response Item Payment Term	•							
	Response Item Notes: Delivery	time estimated: 15 to 21 da	iys						
	No Touch Forehead Thermometer	1 - 1.0000 Each Box	School Nurse Supply Inc	39.9500	531	21,213.45			
	Manufacturer & Part Number:	ADTEMP - 433							
	Quoted as Spec'd: Yes		Product Number: 12569						
	No Touch Forehead Thermometer	1 - 1.0000 Each Box	Action Chemical Inc.	41.0600	531	21,802.86			
	Manufacturer & Part Number:	ACTION - L-GN11T08	308EA						
	Quoted as Spec'd: Yes		Product Number: L-GN11T0808	≣A					
	No Touch Forehead Thermometer	1 - 1.0000 Each Box	Ladd Safety	45.0000	531	23,895.00			
	Manufacturer & Part Number:	Thermometer							
	Quoted as Spec'd: Yes		Product Number: Thermometer						
	No Touch Forehead Thermometer	1 - 1.0000 Each Box	Kaplan Early Learning Company	47.3600	531	25,148.16			
	Manufacturer & Part Number:	Sejoy - ET-306							

Line Lot Number Code		easure Forehead temperatur	Vendor Product Number: 34723 e and Object temperature ? Touch	Bid Price			Pending Award Quantity	Pending Award Pending Total Award
	Dual Scale, switchable	? Result Indicator ? Fever a	arm ? Low battery indicator ? Aut	o shut-off ? Fast re	esult in 3 seco	onds ?		
	No Touch Forehead Thermometer Manufacturer & Part Number:	1 - 1.0000 Each Box each	Cintas Corporation	50.0000	531	26,550.00		
	Quoted as Spec'd: Yes		Product Number: 616940					
	Response Item Notes: Mobi Co	ontact less Thremometer						
	No Touch Forehead Thermometer Manufacturer & Part Number:	1 - 1.0000 Each Box AccuMed - INFTHEM	BRIGHTER DAYS AND NITES	80.9000	531	42,957.90		
	Quoted as Spec'd: Yes		Product Number: INFTHEM					
	Response Item Payment Term	s: Net 15						
	Response Item Notes: 3 - 4 we	eeks ARO						
	No Touch Forehead Thermometer Manufacturer & Part Number:	1 - 1.0000 Each Box Reach	DLM Facilities & Management, Corp.	81.0000	531	43,011.00		
	Quoted as Spec'd: Yes		Product Number: RTTHERMO					
	Response Item Payment Term	s: Net 15						
	Response Item Notes: Each							
	No Touch Forehead Thermometer Manufacturer & Part Number:	1 - 1.0000 Each Box Fabrication Enterprise	BSN Sports s - 75-0395	95.9800	531	50,965.38		
	Quoted as Spec'd: Yes		Product Number: 1458974					
	Response Item Payment Term	s : Net30						
	Response Item Notes: see atta	ached bid document for detai	s about this product.					
19	Industrial Alkaline AAA Batteries, Box Of 24 Manufacturer & Part Number:	24 - 1.0000 Each Boxes DURACELL - L-DURF	Action Chemical Inc.	6.8900	317	2,184.13	317	\$2,184.13 Yes

							Donding	Donding	
Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Quoted as Spec'd: Yes	r drondse omit	Product Number: L-DURPC2400			Total Trioc	,		
	Item Notes: Industrial Alkaline A	AAA Batteries, Box Of 24							
	Industrial Alkaline AAA Batteries, Box Of 24 Manufacturer & Part Number:	24 - 1.0000 Each Boxes Duracell - DPC2400	BRIGHTER DAYS AND NITES	8.8500	317	2,805.45			
	Quoted as Spec'd: Yes		Product Number: 2400						
	Response Item Payment Terms	s: Net 15							
	Response Item Notes: 3 - 4 we	eks							
	Industrial Alkaline AAA Batteries, Box Of 24 Manufacturer & Part Number:	24 - 1.0000 Each Boxes Powermax USA	Capital Well Corporation	9.9900	317	3,166.83			
	Quoted as Spec'd: Yes		Product Number: AAA batteries						
	Response Item Payment Terms	s: Net 30							
	Response Item Notes: Ships in	2-3days							
	Industrial Alkaline AAA Batteries, Box Of 24 Manufacturer & Part Number:	24 - 1.0000 Each Boxes Box of 24	Cintas Corporation	10.4700	317	3,318.99			
	Quoted as Spec'd: Yes		Product Number: EVE EN92						
	Response Item Notes: AAA bar	tteries							
	Industrial Alkaline AAA Batteries, Box Of 24 Manufacturer & Part Number:	24 - 1.0000 Each Boxes Energizer	Ladd Safety	11.7600	317	3,727.92			
	Quoted as Spec'd: Yes		Product Number: Energizer						
	Industrial Alkaline AAA Batteries, Box Of 24 Manufacturer & Part Number:	24 - 1.0000 Each Boxes Duracell - 40022	Kaplan Early Learning Company	12.6000	317	3,994.20			
	Quoted as Spec'd: Yes		Product Number: 26437						
	Response Item Payment Terms	s: Net 30							
	Industrial Alkaline AAA Batteries, Box Of 24	24 - 1.0000 Each Boxes	School Nurse Supply Inc	15.2500	317	4,834.25			

Line Lot Number Code	Item Description Manufacturer & Part Number:	Purchase Unit ENERGIZER	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Quoted as Spec'd: Yes		Product Number: 25106						
20	Industrial Alkaline AA Batteries, Box Of 24 Manufacturer & Part Number:	24 - 1.0000 Each Boxes DURACELL - L-DUR	Action Chemical Inc.	6.8900	317	2,184.13	317	\$2,184.13	Yes
	Quoted as Spec'd: Yes		Product Number: L-DURPC150	00BKD					
	Item Notes: Industrial Alkaline A	AA Batteries, Box Of 24							
	Industrial Alkaline AA Batteries, Box Of 24 Manufacturer & Part Number:	24 - 1.0000 Each Boxes Duracell - DPC1500	BRIGHTER DAYS AND NITES	9.2800	317	2,941.76			
	Quoted as Spec'd: Yes		Product Number: 1500						
	Response Item Payment Terms	s: Net 15							
	Response Item Notes: 3 - 4 week	eks ARO							
	Industrial Alkaline AA Batteries, Box Of 24 Manufacturer & Part Number:	24 - 1.0000 Each Boxes Powermac USA	Capital Well Corporation	9.9900	317	3,166.83			
	Quoted as Spec'd: Yes		Product Number: AAA alkaline	batteri					
	Response Item Payment Terms	s: Net 30							
	Response Item Notes: Delivery	in 2-3 days							
	Industrial Alkaline AA Batteries, Box Of 24 Manufacturer & Part Number:	24 - 1.0000 Each Boxes Box of 24	Cintas Corporation	10.4700	317	3,318.99			
	Quoted as Spec'd: Yes		Product Number: EVE EN91						
	Response Item Notes: AA batte	eries							
	Industrial Alkaline AA Batteries, Box Of 24 Manufacturer & Part Number:	24 - 1.0000 Each Boxes Energizer	Ladd Safety	11.7600	317	3,727.92			
	Quoted as Spec'd: Yes		Product Number: Energizer						
	Industrial Alkaline AA Batteries, Box Of 24	24 - 1.0000 Each Boxes	Kaplan Early Learning Company	11.8100	317	3,743.77			

Line Number	Lot Code	Item Description Manufacturer & Part Number:	Purchase Unit Duracell - 40011	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Quoted as Spec'd: Yes		Product Number: 26436						
		Response Item Payment Terms	:: Net 30							
		Industrial Alkaline AA Batteries, Box Of 24 Manufacturer & Part Number:	24 - 1.0000 Each Boxes ENERGIZER	School Nurse Supply Inc	15.4000	317	4,881.80			
		Quoted as Spec'd: Yes		Product Number: 25107						
21		Dreambaby® Outlet Covers, 48 Outlet Covers Per Pack, Set Of 6 Packs Manufacturer & Part Number:	6 - 48.0000 Count Sets 48/per pack/ Set of 6	BRIGHTER DAYS AND NITES - No Quote	0.0100	289	2.89			
		Quoted as Spec'd: Yes	.c.pc. pasia 201 c. c	Product Number: NA						
		Item Notes: Dreambaby® Outle	t Covers, 48 Outlet Covers							
		Dreambaby® Outlet Covers, 48 Outlet Covers Per Pack, Set Of 6 Packs Manufacturer & Part Number:	6 - 48.0000 Count Sets 48/per pack/ Set of 6	Cintas Corporation	0.0100	289	2.89			
		Quoted as Spec'd: Yes		Product Number: NO BID						
		Response Item Notes: outlet co	ver							
22		ForceFlex Quick-Tie Bags Manufacturer & Part Number:	100 - 200.0000 Count Boxes 100 - 200/Box - No Q	BRIGHTER DAYS AND NITES uote	0.0100	289	2.89			
		Quoted as Spec'd: Yes		Product Number: NA						
				ides continuous odor neutralization tretches around objects to prever		I, RESHNESS	Orawstring			
		ForceFlex Quick-Tie Bags	100 - 200.0000 Count Boxes	Action Chemical Inc.	18.4900	289	5,343.61	289	\$5,343.6	1 Yes
		Manufacturer & Part Number:	100 - 200/Box - L-CL0							
		Quoted as Spec'd: Yes		Product Number: L-CLO70358	.					
		ForceFlex Quick-Tie Bags	100 - 200.0000 Count Boxes	Cintas Corporation	23.5300	289	6,800.17			

Line Lot Number Code	Item Description Manufacturer & Part Number: Quoted as Spec'd: Yes Response Item Notes: forceflex	Purchase Unit 100 - 200/Box	Vendor Product Number: CLO 70358	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	ForceFlex Quick-Tie Bags Manufacturer & Part Number:	100 - 200.0000 Count Boxes 100 - 200/Box	Ladd Safety	63.6200	289	18,386.18			
	Quoted as Spec'd: Yes Response Item Notes: 150 per	box	Product Number: RFPE80627						
23	Heavy Duty Chemical Resistant Bottles with Sprayer Manufacturer & Part Number:	3 - 16.0000 Ounce Packs 3/Pack	Ladd Safety	3.2000	289	924.80			
	Quoted as Spec'd: Yes		Product Number: BOTTLE						
	Stream Settings Chemical Resistant: for both wa	ter-based and oil-based ch ETE with Industrial Trigger content easily. Do Not Us vith sprayer installed.	-	aners, dressings,	window clear				
	Heavy Duty Chemical Resistant Bottles with Sprayer Manufacturer & Part Number:	3 - 16.0000 Ounce Packs 3/Pack - L-BWK0301	Action Chemical Inc.	3.9600	289	1,144.44	289	\$1,144.44	Yes
	Quoted as Spec'd: Yes	Gradic 2 Britteds	Product Number: L-BWK03010						
	Heavy Duty Chemical Resistant Bottles with Sprayer Manufacturer & Part Number:	3 - 16.0000 Ounce Packs 3/Pack - JEB32WS	BRIGHTER DAYS AND NITES	4.2200	289	1,219.58			
	Quoted as Spec'd: Yes		Product Number: JEB32WS						
	Response Item Payment Terms	s: Net 15							
	Response Item Notes: 3 - 4 wee	eks ARO 32 oz							

							Bara Para	Bara Para
Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Pending Total Award
	Heavy Duty Chemical Resistant Bottles with	3 - 16.0000 Ounce Packs	Cintas Corporation	5.0000	289	1,445.00	'	
	Sprayer Manufacturer & Part Number:	3/Pack						
	Quoted as Spec'd: Yes		Product Number: GJO 10449					
	Response Item Notes: Genuine	Joe 32 oz trigger spray bot	tle					
24	Storage Bags	250 - 1.0000 Gallon Boxes	BRIGHTER DAYS AND NITES	0.0100	289	2.89		
	Manufacturer & Part Number:	250/Box - No Quote						
	Quoted as Spec'd: Yes		Product Number: NA					
	Item Notes: Storage Bags, 1 Ga Perfect for school and work lunc Ziploc storage bags in the 1-gall	hes, holding writing utensils		n Ziploc bags.				
	Storage Bags	250 - 1.0000 Gallon Boxes	Action Chemical Inc.	14.1100	289	4,077.79	289	\$4,077.79 Yes
	Manufacturer & Part Number:	250/Box - L-BWK1GA	LBAG					
	Quoted as Spec'd: Yes		Product Number: L-BWK1GALI	BAG				
	Storage Bags	250 - 1.0000 Gallon Boxes	Cintas Corporation	29.7300	289	8,591.97		
	Manufacturer & Part Number:	250/Box						
	Quoted as Spec'd: Yes		Product Number: GJO 11579					
	Response Item Notes: Genuine	Joe 1 gallon freezer storag	e bags					
	Storage Bags	250 - 1.0000 Gallon Boxes	School Nurse Supply Inc	32.2500	289	9,320.25		
	Manufacturer & Part Number:	250/Box						
	Quoted as Spec'd: Yes		Product Number: 13433					
	Storage Bags	250 - 1.0000 Gallon Boxes	Ladd Safety	35.8000	289	10,346.20		
	Manufacturer & Part Number:	250/Box						
	Quoted as Spec'd: Yes		Product Number: SJN682258					
25	Storage Big Bags	4 - 1.0000 Each Boxes	BRIGHTER DAYS AND NITES	0.0100	289	2.89		

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Manufacturer & Part Number:	4/Box - No Quote		•	,			······································	
		Quoted as Spec'd: Yes		Product Number: NA						
		Item Notes: Storage Big Bags, X Pleated bottom and secure Doub Flexible, heavy-duty plastic Convenient built-in handles Protection from moisture, dust ar Natural, flexible shape of a bag	ole Zipper Seal	4" x 20" (60cm x 51cm)						
		Storage Big Bags Manufacturer & Part Number:	4 - 1.0000 Each Boxes 4/Box - NO BID	Cintas Corporation	0.0100	289	2.89			
		Quoted as Spec'd: Yes		Product Number: NO BID						
		Storage Big Bags Manufacturer & Part Number:	4 - 1.0000 Each Boxes 4/Box	School Nurse Supply Inc	9.1500	289	2,644.35	289	\$2,644.35	Yes
		Quoted as Spec'd: Yes		Product Number: 13552						
26		Plastic Pail - 5 Gallon	1 - 5.0000 Gallon Pail	BRIGHTER DAYS AND NITES	0.0100	1,734	17.34			
		Manufacturer & Part Number:	No Quote - NQ	Draduct Number NA						
		Quoted as Spec'd: Yes Item Notes: Plastic Pail - 5 Gallo Stackable with lid. Empty pails note FDA compliant.		Product Number: NA hylene construction withstands to	emperatures up to	180°F.				
		Plastic Pail - 5 Gallon Manufacturer & Part Number:	1 - 5.0000 Gallon Pail each	Cintas Corporation	9.3300	1,734	16,178.22	1,734	\$16,178.22	? Yes
		Quoted as Spec'd: Yes		Product Number: IMP 5515P						
		Response Item Notes: Impact Pr	roducts 5 gal utility pail. Wh	ite,						
		Plastic Pail - 5 Gallon Manufacturer & Part Number:	1 - 5.0000 Gallon Pail IMPACT - L-IMP5515	Action Chemical Inc.	12.5200	1,734	21,709.68			
		Quoted as Spec'd: Yes		Product Number: L-IMP5515						
27		Economy Cups -	1000 - 5.0000 Ounce Boxes	Action Chemical Inc.	35.2100	289	10,175.69	289	\$10,175.69	Yes
		Manufacturer & Part Number:	1000 -/Box - L-BWKTR	RANSCUP5CT						

Line Lot Number Cod	e Item Description Quoted as Spec'd: Yes	astic keeps your drink safe cure grip.		Bid Price Q ISCUP5CT	sponse uantity d are a grea	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Economy Cups - Manufacturer & Part Number:	1000 - 5.0000 Ounce Boxes 1000 -/Box	Ladd Safety	38.7300	289	11,192.97			
	Quoted as Spec'd: Yes		Product Number: BWKTRANS	CUP5CT					
	Response Item Notes: Price is	per box of 2500.							
	Economy Cups - Manufacturer & Part Number:	1000 - 5.0000 Ounce Boxes 1000 -/Box	Cintas Corporation	53.9700	289	15,597.33			
	Quoted as Spec'd: Yes		Product Number: GJO 10500						
	Response Item Notes: Genuine	e Jo Translucent Beverage	Cup. 5 oz.						
			<u>'</u>						
	Economy Cups -	1000 - 5.0000 Ounce Boxes	BRIGHTER DAYS AND NITES	56.6300	289	16,366.07			
	Manufacturer & Part Number:	1000 -/Box - DY5	Box local New Lea DV5						
	Quoted as Spec'd: Yes	N	Product Number: DY5						
	Response Item Payment Terms								
	Response Item Notes: 3 - 4 we	eks ARO							
28	Face Mask Manufacturer & Part Number:	50 - 1.0000 Each Packs 50/Case	Cintas Corporation	0.2400	594	142.56	594	\$142.56	Yes
	Quoted as Spec'd: Yes		Product Number: 617072						
	Item Notes: Face Mask , One S Bacterial Filtration Efficiency (Bl Response Item Notes: same		Resistant, Adjustable Nose Clip, C - White - 50/ Pack	omfortable, Ergonomic	c, Elastic St	гар,			
	Face Mask	50 - 1.0000 Each Packs	Mersi Distribution LLC	2.4500	594	1,455.30			
	Manufacturer & Part Number:	50/Case	5						
	Quoted as Spec'd: Yes		Product Number: ZIDIAN1						

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Face Mask	50 - 1.0000 Each	Unipak Corp.	3.5000	594	2,079.00			
	Manufacturer & Part Number:	Packs 50/Case							
	Quoted as Spec'd: Yes		Product Number: 3-Ply Face M	lask					
	Response Item Payment Terms	s: Net 30							
	Face Mask	50 - 1.0000 Each Packs	Ladd Safety	5.0000	594	2,970.00			
	Manufacturer & Part Number:	50/Case							
	Quoted as Spec'd: Yes		Product Number: ELM100						
	Response Item Notes: Price is	per box of 50 masks.							
	Face Mask	50 - 1.0000 Each Packs	Action Chemical Inc.	10.4700	594	6,219.18			
	Manufacturer & Part Number:	50/Case - L-GN1WXD	KZ0007BX						
	Quoted as Spec'd: Yes		Product Number: L-GN1WXDN	(Z0007BX					
	Face Mask	50 - 1.0000 Each Packs	DLM Facilities & Management, Corp.	14.5000	594	8,613.00			
	Manufacturer & Part Number:	50/Case							
	Quoted as Spec'd: Yes	No. 45	Product Number: MS3P50100	1					
	Response Item Payment Terms								
	Response Item Notes: Each ma	35%							
	Face Mask	50 - 1.0000 Each	BRIGHTER DAYS AND	16.4200	594	9,753.48			
	Manufacturer & Part Number:	Packs 50/Case - QK1	NITES						
	Quoted as Spec'd: Yes		Product Number: QK1						
	Response Item Payment Terms	s: Net 15							
	Response Item Notes: 3 - 4 wee	eks ARO							
	Face Mask	50 - 1.0000 Each Packs	Kaplan Early Learning Company	29.1900	594	17,338.86			
	Manufacturer & Part Number:	50/Case - LSP7601-B							
	Quoted as Spec'd: Yes		Product Number: 34494						

Line Lot Number Code	Item Description Response Item Payment Terms	Purchase Unit :: Net 30	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Face Mask Manufacturer & Part Number:	50 - 1.0000 Each Packs 50/Case - 70-0663-50	BSN Sports	42.5000	594	25,245.00			
	Quoted as Spec'd: Yes	00,0000 10 0000 00	Product Number: 70-0663-50						
	Response Item Payment Terms	:: NET30							
	Response Item Notes: Alternate	e item. blue mask. see attac	hed bid was details about this ite	em.					
	Face Mask	50 - 1.0000 Each Packs	Zulco International, Inc	125.0000	594	74,250.00			
	Manufacturer & Part Number:	50/Case - WENZHOU							
	Quoted as Spec'd: Yes Response Item Payment Terms	· Net 30 days	Product Number: 10MSK_DM						
	efficiency (PFE) = 90%. Breatha bend - 100% 3 ply non woven m	ble, lightweight fabric, soft a lelt blown fabric - Reinforce dult use) - 50 masks per bo	e mask provides reinforced 3-ply land comfortable to wear Elastid 3-Ply Layer Protection Particle I ox - 5 resealable packages of 10 n at 1 - SKU#: 10MSK_DM	c ear loop with adj Filtration Efficienc	justable nose s y (PFE) = 90%	oft metal			
29	These cloth masks are reusable and child-sized, 7" x 3-3/4" Manufacturer & Part Number:	1 - 1.0000 Each Purchase 1.55/Mask - XDXNJ-N	Cintas Corporation	0.3100	10,120	3,137.20	10,120	\$3,137.20) Yes
	Quoted as Spec'd: Yes		Product Number: 617274						
	Item Notes: Item number: XDXN These cloth masks are reusable colors and patterns including pir Response Item Notes: same	and child-sized, 7" x 3-3/4"	. They come in a variety of differe e, and light pink	ent					
	These cloth masks are reusable and child-sized, 7" x 3-3/4" Manufacturer & Part Number:	1 - 1.0000 Each Purchase 1.55/Mask - XDXNJ-N	Mersi Distribution LLC	0.4900	10,120	4,958.80			
	Quoted as Spec'd: Yes		Product Number: 2030						
	These cloth masks are reusable and child-sized, 7" x 3-3/4"	1 - 1.0000 Each Purchase	Unipak Corp.	0.7400	10,120	7,488.80			

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Manufacturer & Part Number:	1.55/Mask - XDXNJ-I							
		Quoted as Spec'd: Yes Response Item Payment Terms	: Net30	Product Number: Cloth Mask	CS					
		These cloth masks are reusable and child-sized, 7" x 3-3/4"	1 - 1.0000 Each Purchase	Zulco International, Inc	0.8500	10,120	8,602.00			
		Manufacturer & Part Number:	1.55/Mask - XDXNJ-I	NTEAM						
		Quoted as Spec'd: Yes		Product Number: CMSK_01	CHILD					
		Response Item Payment Terms	: net 30 days							
		Response Item Notes: This pren Stretch ear loops allow for a snu- with filter pocket and elastic loop Machine washable Non-medical	g and secure fit. Ideal for s s Stretch ear loops allow f	everyday use –School, indoor/o or a snug and secure fit. 90% co	utdoor, traveling, et otton / 10% polyeste	c. Reusable Farr Dimension: 7	ace Mask			
		These cloth masks are reusable and child-sized, 7" x 3-3/4"	1 - 1.0000 Each Purchase	Kotis Design	1.9900	10,120	20,138.80			
		Manufacturer & Part Number:	1.55/Mask - XDXNJ-I	NTEAM						
		Quoted as Spec'd: Yes		Product Number: KIMASK2						
		Response Item Payment Terms	: Net 30 w/ PO							
		Response Item Notes: We are q This soft cotton/poly mask is breathe mask is designed for max co	athable, washable and has	s a built in filter pocket. With ela	stic loops, gathered	edges and sof	t fabric,			

Response Item Notes: We are quoting our Kotis Made kids reusable mask: https://go.kotisdesign.com/products/custom-face-masks/
This soft cotton/poly mask is breathable, washable and has a built in filter pocket. With elastic loops, gathered edges and soft fabric,
the mask is designed for max comfort and fit. You'll notice the difference the second you try it on. Take advantage of all over print for a
completely custom look. MASK SPECS - NOT medical grade - Available in Youth/Small, M/L, and XL - Elastic ear loops (available in
different colors) - Optional filter pocket included at no additional charge - Optional clear panel included at no additional charge Individually wrapped in cello bag - Tearaway label - MOQ 100 - 20-25-day lead time - 3-ply available for \$0.20 extra, 4-ply for \$0.40 extra
- Add \$0.20 each for decoration - Plastic Nose Insert - ADD \$.10 each - Adj Ear Toggles or Straps - ADD \$.20 each mask DIMENTIONS
- Small/Youth: 5.9? length x 4.3? height STYLES - Full Panel (clear panel available) - Center Seam - Either above with Filter
Sleeve/Pocket FABRIC OPTIONS: OUTSIDE/INSIDE - 100% Poly / 100% Cotton (digital print available) - 100% Cotton / 100% Cotton
(screenprint or blank) - 95% Cotton + 5% Spandex / 95% Cotton + 5% Spandex (screenprint or blank) DIGITAL PRINT - Take advantage
of full color all over print to make the mask whatever pattern you want (our design team is here to help mock it up as well). BLANK
COLORS - Over 100 stock fabric colors and over a dozen strap colors to match your brand.

These cloth masks are 1 - 1.0000 Each Uweport Inc. 2.3900 10,120 24,186.80

reusable and child-sized, 7" Purchase

x 3-3/4"

Manufacturer & Part Number: 1.55/Mask - XDXNJ-NTEAM

Quoted as Spec'd: Yes Product Number: CM50013

Response Item Payment Terms: 30 days

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	These cloth masks are reusable and child-sized, 7" x 3-3/4"	1 - 1.0000 Each Purchase	BRIGHTER DAYS AND NITES	2.8200	10,120	28,538.40			
	Manufacturer & Part Number:	1.55/Mask - XDXNJ-N	NTEAM						
	Quoted as Spec'd: Yes		Product Number: BOS195W						
	Response Item Payment Terms	s: Net 15							
	Response Item Notes: 3 - 4 we	eks ARO 25 per bag							
	These cloth masks are reusable and child-sized, 7" x 3-3/4" Manufacturer & Part Number:	1 - 1.0000 Each Purchase 1.55/Mask - XDXNJ-N	DLM Facilities & Management, Corp.	8.2000	10,120	82,984.00			
	Quoted as Spec'd: Yes		Product Number: Stickit Graphix	×					
	Response Item Payment Terms	s: Net 15		•					
	Response Item Notes: Each								
	These cloth masks are reusable and child-sized, 7" x 3-3/4"	1 - 1.0000 Each Purchase	Action Chemical Inc.	505.8800	10,120	5,119,505.60			
	Manufacturer & Part Number:	1.55/Mask - XDXNJ-N	NTEAM						
	Quoted as Spec'd: Yes		Product Number: L-GN1PE1733	36					
30	High quality protective Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W Manufacturer & Part Number:	1 - 1.0000 Each Purchase .71/ Mask	Unipak Corp.	0.0900	27,555	2,479.95			
	Quoted as Spec'd: Yes		Product Number: HQ 3-Ply FM-	С					
	Response Item Payment Terms	s: Net 30							
	High quality protective Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W	1 - 1.0000 Each Purchase	Zulco International, Inc	0.0900	27,555	2,479.95	27,555	\$2,479.9	5 Yes
	Manufacturer & Part Number:	.71/ Mask - NA							
	Quoted as Spec'd: Yes		Product Number: 10MSK_DM_0	CHILD					
	Response Item Payment Terms	s: Net 30 days							
			20						

						,			
Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	blocking microorganisms, poller strength, while offering comfort adjustable nose soft metal beno	n, droplets, etc. Its non-w to the child Breathable d - Reinforced 3 Layer Pr tandard: GB/T 38880-202	for children offers protection in filter oven structure and ultra-fine filter lay , lightweight fabric, soft and comforta otection Efficient antibacterial - 5.7" of 20 * - Brand: Dinaweisi - Colors: White	ers ensure the rightlible to wear - Elast 3.5" - 70% non-w	nt thickness ar iic ear loop wit voven fabric, 3	nd h 10%			
	High quality protective Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W Manufacturer & Part Number:	1 - 1.0000 Each Purchase .71/ Mask	School Nurse Supply Inc	0.2800	27,555	7,715.40			
		.7 17 IVIASK	Bus local Name Law 54540						
	Quoted as Spec'd: Yes		Product Number: 51510						
	Response Item Notes: package	ed 50 masks/box. The pri	ce per box is \$14.00. must be purch	ased by the box.					
	High quality protective Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W Manufacturer & Part Number:	1 - 1.0000 Each Purchase .71/ Mask	Cintas Corporation	0.3100	27,555	8,542.05			
		.7 1/ IVIdSK	Due dont Novel ou 047074						
	Quoted as Spec'd: Yes		Product Number: 617274						
	Response Item Notes: same								
	High quality protective Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W	1 - 1.0000 Each Purchase	Kotis Design	0.3500	27,555	9,644.25			
	Manufacturer & Part Number:	.71/ Mask							
	Quoted as Spec'd: Yes		Product Number: KINOID-YDN						
	Response Item Payment Terms	s: Net 30 w/ PO							
F r			asks - Youth Size Material: 25g non 5 days for additional \$.10 per unit 30			_			
	High quality protective Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W	1 - 1.0000 Each Purchase	DLM Facilities & Management, Corp.	0.3600	27,555	9,919.80			
	Manufacturer & Part Number:	.71/ Mask							
	Quoted as Spec'd: Yes		Product Number: SPZ85171						

High quality protective Disposable 3-Ply Face Manufacturer & Part Number: 1 - 1,0000 Each Purchase	Line Lot Number Code	Item Description Response Item Payment Terms Response Item Notes: Each	Purchase Unit s: Net 15	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
Quoted as Spec'd: Yes Product Number: FM10012		Disposable 3-Ply Face Mask for kids. CE Certified.		Uweport Inc.	0.3900	27,555	10,746.45			
Response Item Payment Terms: 30 days		Manufacturer & Part Number:	.71/ Mask							
High quality protective Disposable 3-Ply Face Mask for kids. CE certified. S.7* Lx 3.5*W Manufacturer & Part Number: 7.1/ Mask - QK1		Quoted as Spec'd: Yes		Product Number: FM10012						
Disposable 3-Ply Face Purchase NITES		Response Item Payment Terms	s: 30 days							
Manufacturer & Part Number: .7:1/ Mask - QK1		Disposable 3-Ply Face Mask for kids. CE Certified.			0.6200	27,555	17,084.10			
Response Item Payment Terms: Net 15 Response Item Notes: 3 - 4 weeks			.71/ Mask - QK1							
High quality protective Disposable 3-Ply Face Purchase Purchase Company S7.555 S69,635.80 Purchase Company Purchase Company S7.57° Lx 3.5° W Manufacturer & Part Number: .71/ Mask - LSP7601-CF		Quoted as Spec'd: Yes		Product Number: QK1						
High quality protective Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W Manufacturer & Part Number: Net 30 High quality protective Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W Manufacturer & Part Number: Net 30 High quality protective Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W Manufacturer & Part Number: Net 30 Shoe Cover 1-100.0000 Count BRIGHTER DAYS AND 0.0100 289 2.89 Shoe Cover 1-100.0000 Count BRIGHTER DAYS AND NITES		Response Item Payment Terms	s: Net 15							
Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W Manufacturer & Part Number: .71/ Mask - LSP7601-CF Quoted as Spec'd: Yes Product Number: 34786 Response Item Payment Terms: Net 30 High quality protective 1 - 1.0000 Each Action Chemical Inc. 529.4100 27,555 14,587,892.55 Disposable 3-Ply Face Purchase Mask for kids. CE Certified. 5.7" Lx 3.5"W Manufacturer & Part Number: .71/ Mask - L-GN1MS8008B Quoted as Spec'd: Yes Product Number: L-GN1MS8008B 31 Shoe Cover 1 - 100.0000 Count BRIGHTER DAYS AND 0.0100 289 2.89 Big Day Special Spe		Response Item Notes: 3 - 4 we	eks							
Manufacturer & Part Number: .71/ Mask - LSP7601-CF		Disposable 3-Ply Face Mask for kids. CE Certified.			31.5600	27,555	869,635.80			
High quality protective Disposable 3-Ply Face Purchase Mask for kids. CE Certified. 5.7" Lx 3.5"W Manufacturer & Part Number: .71/ Mask - L-GN1MS8008B Quoted as Spec'd: Yes Product Number: L-GN1MS8008B 31 Shoe Cover 1 - 100.0000 Count BRIGHTER DAYS AND NITES Response Item Payment Terms: Net 30 Action Chemical Inc. 529.4100 27,555 14,587,892.55 14,587,892.55		Manufacturer & Part Number:	.71/ Mask - LSP7601-	CF						
High quality protective Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W Manufacturer & Part Number: .71/ Mask - L-GN1MS8008B Quoted as Spec'd: Yes Product Number: L-GN1MS8008B 31 Shoe Cover 1 - 100.0000 Count BOX NITES Action Chemical Inc. 529.4100 27,555 14,587,892.55 Purchase 529.4100 27,555 14,587,892.55 Purchase 529.4100 27,555 14,587,892.55 Purchase 529.4100 27,555 14,587,892.55 Output Disposable 3-Ply Face Purchase 529.4100 27,555 14,587,892.55 Purchase 529.4100 27,555 14,587,892.55 Output Disposable 3-Ply Face Purchase Purchase 92,575 14,587,892.55 Output Disposable 3-Ply Face Purchase 92,575 14,587,892.55 Output Disposable		Quoted as Spec'd: Yes		Product Number: 34786						
Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W Manufacturer & Part Number: .71/ Mask - L-GN1MS8008B Quoted as Spec'd: Yes Product Number: L-GN1MS8008B 31 Shoe Cover 1 - 100.0000 Count BRIGHTER DAYS AND NITES 0.0100 289 2.89		Response Item Payment Terms	s: Net 30							
Quoted as Spec'd: Yes Product Number: L-GN1MS8008B 31 Shoe Cover 1 - 100.0000 Count BRIGHTER DAYS AND NITES 0.0100 289 2.89		Disposable 3-Ply Face Mask for kids. CE Certified. 5.7" Lx 3.5"W	Purchase		529.4100	27,555	14,587,892.55			
31 Shoe Cover 1 - 100.0000 Count BRIGHTER DAYS AND 0.0100 289 2.89 Box NITES			.71/ Mask - L-GN1MS		_					
Box NITES		Quoted as Spec'd: Yes		Product Number: L-GN1MS8008	3B					
	31		Box		0.0100	289	2.89			

	.ot	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Pending Total Award
Trumber 50	Juc	Quoted as Spec'd: Yes	rui chase onit	Product Number: NA	Dia Frice	quantity	Total Frice	<u>,</u>	Award
		made of breathable material Cotton Spunbond polypropylene add		Shoe Covers, White, Pack Of 100	, Comfortable, pro	tective shoe c	overs are		
		Shoe Cover	1 - 100.0000 Count Box	Action Chemical Inc.	8.2500	289	2,384.25	289	\$2,384.25 Yes
		Manufacturer & Part Numbe	r: 100/Box - L-MIICRI20	02					
		Quoted as Spec'd: Yes		Product Number: L-MIICRI2002	2				
		Shoe Cover	1 - 100.0000 Count Box	Unipak Corp.	21.0000	289	6,069.00		
		Manufacturer & Part Numbe							
		Quoted as Spec'd: Yes		Product Number: Shoe Cover -	A				
		Response Item Payment Ter	rms: Net 30						
		Shoe Cover	1 - 100.0000 Count Box	Kaplan Early Learning Company	23.7000	289	6,849.30		
		Manufacturer & Part Numbe	r: 100/Box - LSP7603-B						
		Quoted as Spec'd: Yes	N 4 00	Product Number: 34495					
		Response Item Payment Ter	ms: Net 30						
		Shoe Cover	1 - 100.0000 Count Box	DLM Facilities & Management, Corp.	26.4300	289	7,638.27		
		Manufacturer & Part Numbe	r: 100/Box						
		Quoted as Spec'd: Yes	_	Product Number: SKU# 5927					
		Response Item Payment Tel							
		Response Item Notes: Custo	ome Lanyard						
		Shoe Cover	1 - 100.0000 Count Box	Cintas Corporation	38.2700	289	11,060.03		
		Manufacturer & Part Numbe							
		Quoted as Spec'd: Yes		Product Number: 617121					
		B	70 1000 1						

Response Item Notes: \$382.79 per case 1000units per case

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award			
32	Pediatric Zipper Dental Hygiene Kit Manufacturer & Part Number:	1 - 24.0000 Count Box 24 count/Box - No Que	BRIGHTER DAYS AND NITES ote	0.0100	289	2.89						
	Quoted as Spec'd: Yes		Product Number: NA									
	Item Notes: Pediatric Zipper Der all the essential home-care denta			packed in a reusa	ıble plastic zip _l	per bag with						
	The kits are packaged in bags in 24 kits per box.	assorted products and fou	r fun assorted colors: purple, blue	e, red and green.	Minimum orde	er of 1 box,						
	Each Pediatric Zipper Hygiene K	it includes:										
	One child's suction cup brush											
	One character toothbrush cover	(assorted styles)										
	One travel-size sodium-fluoride a	anticavity toothpaste tube o	f toothpaste in either bubblegum	or berry flavor								
	One 2-minute timer											
	Pediatric Zipper Dental Hygiene Kit Manufacturer & Part Number:	1 - 24.0000 Count Box 24 count/Box - NO BII	Cintas Corporation	0.0100	289	2.89						
	Quoted as Spec'd: Yes		Product Number: NO BID									
33	Sensitive Baby Wipes Pop	8 - 560.0000 Count Cases	BRIGHTER DAYS AND NITES	0.0100	289	2.89						
	Manufacturer & Part Number:	560 count/8/CS - No C	Quote									
	Quoted as Spec'd: Yes		Product Number: NA									
	Item Notes: Sensitive Baby Wipe times and cleaning sensitive skin • Skin-safe Preservatives • No Parabens • No Methylisothiazolinone (MI) • Fragrance Free • Alcohol Free • Clinically-Proven Mild		tested and perfume-free formula	is hypoallergenic	and ideal for	changing						
	Sensitive Baby Wipes Pop Manufacturer & Part Number:	8 - 560.0000 Count Cases 560 count/8/CS - L-PC	Action Chemical Inc.	18.8200	289	5,438.98	289	\$5,438.9	8 Yes			

Line Number	Lot Code	Item Description Quoted as Spec'd: Yes	Purchase Unit	Vendor Product Number: L-PGC88529	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Sensitive Baby Wipes Pop Manufacturer & Part Number:	8 - 560.0000 Count Cases 560 count/8/CS	Ladd Safety	26.9000	289	7,774.10			
		Quoted as Spec'd: Yes	ov of 540	Product Number: PGC19505						
		Response Item Notes: Price is p	er case of 512.							
		Sensitive Baby Wipes Pop	8 - 560.0000 Count Cases	Cintas Corporation	43.9100	289	12,689.99			
		Manufacturer & Part Number:	560 count/8/CS							
		Quoted as Spec'd: Yes		Product Number: NICPNCW07	77233CT					
		Response Item Notes: Nice-Pak	Nice'N Clean Baby Wipes.	80 ct.						
34		Clear Vinyl Backpack Manufacturer & Part Number:	1 - 1.0000 Each Purchase No Quote	BRIGHTER DAYS AND NITES	0.0100	311	3.11			
		Quoted as Spec'd: Yes		Product Number: NA						
		Item Notes: Clear Vinyl Backpac main compartments, side mesh Built with durable plastic (for first	oockets and front pocket wi				-			
		Clear Vinyl Backpack	1 - 1.0000 Each Purchase	Action Chemical Inc.	8.0100	311	2,491.11	311	\$2,491.1	1 Yes
		Manufacturer & Part Number:	EASTPORT - L-EST1	93971BJBLK						
		Quoted as Spec'd: Yes		Product Number: L-EST19397	1BJBLK					
		Clear Vinyl Backpack	1 - 1.0000 Each Purchase	Cintas Corporation	14.8100	311	4,605.91			
		Manufacturer & Part Number:	Each							
		Quoted as Spec'd: Yes		Product Number: 1						
		Response Item Notes: use renta	ıl							
		Clear Vinyl Backpack Manufacturer & Part Number:	1 - 1.0000 Each Purchase Taco Products	DLM Facilities & Management, Corp.	17.1900	311	5,346.09			
		Quoted as Spec'd: Yes		Product Number: TCO63225						

Line Lot Number Code	Item Description Response Item Payment Terms Response Item Notes: Each	Purchase Unit s: Net 15	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity		Pending Award
35	First Aid Kit Manufacturer & Part Number:	1 - 1.0000 Each Purchase ACME UNITED - L-FA	Action Chemical Inc. O25001	12.5400	311	3,899.94	311	\$3,899.94	Yes
	Quoted as Spec'd: Yes		Product Number: L-FAO25001						
	provider and signed parental co Flexible roller gauze Liquid hand soap and/or handw	eroxide) or antiseptic wipes ree gloves g, acetaminophen/ibuprofen) onsent rashing gels monary resuscitation (CPR) ood and other body fluids) oped (to contain bleeding of in	to be used ONLY for children wi (available from your local Red C	·	orimary health	care			
	First Aid Kit Manufacturer & Part Number:	1 - 1.0000 Each Purchase Honeywell - H010101-	BRIGHTER DAYS AND NITES	23.7000	311	7,370.70			
	Quoted as Spec'd: Yes	Honeywell - Holdlol-	4334L Product Number: 0101014354	I					
	Response Item Payment Terms	s: Net 15	1 10 duct Humber. 010 10 14334	_					
	Response Item Notes: 3 - 4 we								
	First Aid Kit Manufacturer & Part Number:	1 - 1.0000 Each Purchase Each	Cintas Corporation	40.1300	311	12,480.43			
	Quoted as Spec'd: Yes		Product Number: 600100						
	Response Item Notes: Cintas F	First Aid small kit							

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	First Aid Kit Manufacturer & Part Number:	1 - 1.0000 Each Purchase ASA Techmed, Inc.	Zulco International, Inc	49.9900	311	15,546.89			
	Quoted as Spec'd: Yes	·	Product Number: 301						
	Response Item Payment Terms	s: net 30 days							
		ads, rolled gauze, acetamir	ssential first aid and wound care sophen caplets, cold pack, antisep			-			
36	White Safe-Plate Standard Outlet Cover Manufacturer & Part Number:	1 - 1.0000 Each Purchase No Quote	BRIGHTER DAYS AND NITES	0.0100	100	1.00			
	Quoted as Spec'd: Yes		Product Number: NA						
	outlets seals off electric outlets f cord is unplugged, the cover aut Includes thermal seal for added UL and CSA approved listings	rom curious hands. Slide control con	le Screw in the middle) This child over allows adults to easily plug in	n power cords, bu	t as soon as th	ne power			
	White Safe-Plate Standard Outlet Cover Manufacturer & Part Number:	1 - 1.0000 Each Purchase NO BID`	Cintas Corporation	0.0100	100	1.00			
	Quoted as Spec'd: Yes		Product Number: NO BID						
37	White Safe-Plate Standard Outlet Cover, (Double Screw, one at the top and one at the bottom) Manufacturer & Part Number:	1 - 1.0000 Each Purchase No Quote	BRIGHTER DAYS AND NITES	0.0100	10	0.10			
	Quoted as Spec'd: Yes		Product Number: NA						
		seals off electric outlets fro s unplugged, the cover auto	ble Screw, one at the top and one m curious hands. Slide cover allo matically shuts.						
	White Safe-Plate Standard Outlet Cover, (Double Screw, one at the top and one at the bottom)	1 - 1.0000 Each Purchase	Cintas Corporation	0.0100	10	0.10			

Line Lot Number Code	Item Description Manufacturer & Part Number:	Purchase Unit NO BID	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Pend Total Awa	_	
	Quoted as Spec'd: Yes	NO DID	Product Number: NO BID							
	White Safe-Plate Standard Outlet Cover, (Double Screw, one at the top and one at the bottom)	1 - 1.0000 Each Purchase	School Nurse Supply Inc	3.4100	10	34.10	10	\$34.10 Yes		
	Manufacturer & Part Number:	MOMMY'S HELPER								
	Quoted as Spec'd: Yes		Product Number: 51511							
38	Safco® Portable Freestanding Manufacturer & Part Number:	1 - 1.0000 Each Purchase Safco - 9752568	BRIGHTER DAYS AND NITES	0.0100	30	0.30				
	Quoted as Spec'd: Yes		Product Number: No Quote							
	Item Notes: Safco® Portable Fr 9752568	reestanding Acrylic Sneeze	Guard, With Document Pass-Thro	ugh, 28"H x 30"W	/ x 8"D, Clear	Item #				
	Safco® Portable Freestanding Manufacturer & Part Number:	1 - 1.0000 Each Purchase Safco - 9752568	Cintas Corporation	138.6700	30	4,160.10	30	\$4,160.10 Yes		
	Quoted as Spec'd: Yes		Product Number: 2							
	Safco® Portable Freestanding Manufacturer & Part Number:	1 - 1.0000 Each Purchase Safco - 9752568	Action Chemical Inc.	144.1200	30	4,323.60				
	Quoted as Spec'd: Yes		Product Number: L-SAF7500CL	-						
39	Lunch Napkins	12 - 500.0000 Count Cases	BRIGHTER DAYS AND NITES	0.0100	20	0.20				
	Manufacturer & Part Number:	11" x 13", White, Pac								
	Quoted as Spec'd: Yes Product Number: No Quote									
	Item Notes: Lunch Napkins, 1/4-Fold 1-Ply, 11" x 13". Made with a high percentage of recycled material for sustainability. 2-ply napkins are soft and consistent. Easily handles sticky messes. Embossed, 4-fold design for a stylish look.									
	Lunch Napkins	12 - 500.0000 Count Cases	Cintas Corporation	0.0100	20	0.20				
	Manufacturer & Part Number:		k Of 500, Case Of 12 - NO BID							

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	•	Quoted as Spec'd: Yes		Product Number: NO BID		-				
		Lunch Napkins	12 - 500.0000 Count Cases	Action Chemical Inc.	19.8600	20	397.20	20	\$397.20	Yes
		Manufacturer & Part Number:		Of 500, Case Of 12 - L-BWK83	11CT					
		Quoted as Spec'd: Yes		Product Number: L-BWK83110	СТ					
		Lunch Napkins	12 - 500.0000 Count Cases	Ladd Safety	36.2000	20	724.00			
		Manufacturer & Part Number:	11" x 13", White, Pack	Of 500, Case Of 12						
		Quoted as Spec'd: Yes		Product Number: BWK8310W						
40		2-Ply Paper Towels	30 - 85.0000 Sheet Rolls	Action Chemical Inc.	19.0800	10	190.80	10	\$190.80	Yes
		Manufacturer & Part Number:		ase Of 30 Rolls - L-GEN1797						
		Quoted as Spec'd: Yes		Product Number: L-GEN1797						
		Item Notes: 2-Ply Paper Towels Whitened without chlorine, these	-			cked.				
		2-Ply Paper Towels	30 - 85.0000 Sheet Rolls	BRIGHTER DAYS AND NITES	27.7100	10	277.10			
		Manufacturer & Part Number:	85 Sheets Per Roll, C	ase Of 30 Rolls - Westcraft						
		Quoted as Spec'd: Yes		Product Number: WC5501						
		Response Item Payment Terms	: Net 15							
		Response Item Notes: 3 - 4 wee	eks ARO 30 CS							
		2-Ply Paper Towels	30 - 85.0000 Sheet Rolls	Ladd Safety	28.5000	10	285.00			
		Manufacturer & Part Number:	85 Sheets Per Roll, C	ase Of 30 Rolls						
		Quoted as Spec'd: Yes		Product Number: WIN1220850	СТВ					
		2-Ply Paper Towels	30 - 85.0000 Sheet Rolls	Cintas Corporation	31.0400	10	310.40			
		Manufacturer & Part Number:	85 Sheets Per Roll, C	ase Of 30 Rolls - 85 sheets x 30	cart.					
		Quoted as Spec'd: Yes		Product Number: SOL 41504						
		Response Item Notes: Livi Sola	ris Paper 2 Ply Kitchen Roll	Towel. 85 sheets x 30 carton						

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
41		Multi-Fold Towels	16 - 250.0000 Sheet	Action Chemical Inc.	16.4900	10	164.90	10	\$164.90	0 Yes
		Manufacturer & Part Number:	Packs White, 250 Sheets Pe	er Pack, Case Of 16 Packs - L-GE	ENMULTIFOLDWI	+				
		Quoted as Spec'd: Yes		Product Number: L-GENMULT	TFOLDWH					
		Item Notes: Multi-Fold Towels, 9 measure 9 inches and are white Towels are interfolded for easy of	in color.	uited for hand-drying and general	cleanup application	ons. Multi-fold	Itowels			
		Multi-Fold Towels	16 - 250.0000 Sheet Packs	BRIGHTER DAYS AND NITES	24.8000	10	248.00			
		Manufacturer & Part Number:	White, 250 Sheets Pe	er Pack, Case Of 16 Packs - Wes	tcraft					
		Quoted as Spec'd: Yes		Product Number: WC4101W						
		Response Item Payment Terms	: Net 15							
		Response Item Notes: 3 - 4 wee	eks ARO							
		Multi-Fold Towels	16 - 250.0000 Sheet Packs	Cintas Corporation	27.5200	10	275.20			
		Manufacturer & Part Number:	White, 250 Sheets Pe	er Pack, Case Of 16 Packs						
		Quoted as Spec'd: Yes		Product Number: SOL 43513						
		Response Item Notes: Livi Sola	ris Paper Multifold towel. 2	250 Quantity Per Pack - 16 / Carto	on					
		Multi-Fold Towels	16 - 250.0000 Sheet Packs	Ladd Safety	28.5000	10	285.00			
		Manufacturer & Part Number:	White, 250 Sheets Pe	er Pack, Case Of 16 Packs						
		Quoted as Spec'd: Yes		Product Number: BWK6204						
42		Nonwoven Bouffant Cap	1 - 100.0000 Count Pack	Action Chemical Inc.	3.5900	10	35.90	10	\$35.90	0 Yes
		Manufacturer & Part Number:	White - 100 / Pack - L	-BWKH42M						
		Quoted as Spec'd: Yes		Product Number: L-BWKH42N	1					
		Item Notes: Nonwoven Bouffant Polypropylene - White - 100 / Pa Nonwoven construction keeps has Spun-bonded, polypropylene ma	ckElastic band stretches to air in place to prevent conta	o accommodate variety of head si amination		nt Protection -				
		Nonwoven Bouffant Cap Manufacturer & Part Number:	1 - 100.0000 Count Pack White - 100 / Pack	Cintas Corporation	4.9100	10	49.10			

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Quoted as Spec'd: Yes		Product Number: 617331						
		Response Item Notes: \$49.10 p	er case 1000 one size fits	all.						
		Nonwoven Bouffant Cap	1 - 100.0000 Count	BRIGHTER DAYS AND	55.0000	10	550.00)		

Pack NITES

Manufacturer & Part Number: White - 100 / Pack - CELB

Quoted as Spec'd: Yes Product Number: CELBI4D

Response Item Payment Terms: Net 15

Response Item Notes: 3 - 4 weeks ARO 1000/CS